

NAME: ATABOR MICHAEL O

MAT: ISKAG071001

DEPT: Petroleum Eng

COURSE: ENG 381

Assignment 3

$$IF y = e^{x^2} + x$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = 2e^{x^2+x} + (2x+1)^2 e^{x^2+x}$$

$$y'' = y'(2x+1) + 2y$$

$$y' = (2x+1)e^{x^2+x}$$

$$y'(2x+1) = (2x+1)e^{x^2+x} (2x+1) \\ = (2x+1)^2 e^{x^2+x}$$

$$2y = 2 \cdot e^{x^2+x}$$

$$y'(2x+1) + 2y = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$\therefore y'' = y'(2x+1) + 2y$$

$$\therefore 2e^{x^2+x} + (2x+1)^2 e^{x^2+x} = (2x+1)^2 e^{x^2+x} + 2e^{x^2+x}$$

$$w = y''$$

$$w' = y^{n+2}$$

$$p = y'(2x+1)$$

$$y = 2x+1$$

$$v' = 2$$

$$u = y'$$

$$v'' = 0$$

$$u^n = y^{n+1}$$

$$p^n = y^{n+1} \cdot 2x+1 + n \cdot y^n \cdot 2$$

$$s = 2y$$

$$s^n = 2y^n$$

$$w^n = p^n + s^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2(n+1)y^n$$

Question 2 I

using the Leibnitz theorem, given that

$$y = x^3 e^{4x} \quad \text{determine } y^5$$

$$v = x^3$$

$$u = e^{4x}$$

$$v' = 3x^2$$

$$u' = 4e^{4x}$$

$$v'' = 6x$$

$$u'' = 4 \cdot 4 e^{4x}$$

$$v''' = 6$$

$$u''' = 4 \cdot 4 \cdot 4 e^{4x}$$

$$v^{(4)} = 0$$

$$u^{(n)} = 4^n e^{4x}$$

$$y^n = 4^n e^{4x} \cdot x^3 + n \cdot 4^{n-1} e^{4x} \cdot 3x^2 + \frac{n(n-1)}{2} 4^{n-2} e^{4x} \cdot 6x +$$

$$\frac{n(n-1)(n-2)}{6} 4^{n-3} e^{4x} \cdot 6$$

6

$$y^n = 4^n e^{4x} x^3 + n 4^{n-1} e^{4x} 3x^2 + n(n-1) 4^{n-2} e^{4x} 3x + n(n-1)(n-2) 4^{n-3} e^{4x}$$

$$y^5 = 4^5 e^{4x} x^3 + 4e^{4x} 3x^2 + 5 \cdot 4 \cdot 4^3 e^{4x} 3x + 5 \cdot 4 \cdot 3 \cdot 4^2 \cdot e^{4x}$$

Question 2 II

$$x^2 y'' + xy' + y = 0$$

Show that $x^2 y^{(n+2)} + (2n+1)xy^{(n+1)} + (n^2+1)y^n = 0$.

$$\text{let } w = x^2 y''$$

$$v = x^2$$

$$u = y''$$

$$v' = 2x$$

$$u' = y'''$$

$$v'' = 2$$

$$u' = y^{(iv)}$$

$$v^{(4)} = 0$$

$$u^{(n)} = y^{(n+2)}$$

$$w^n = y^{(n+2)} x^2 + n \cdot y^{(n+1)} 2x + \frac{n(n-1)}{2} \cdot y^n \cdot 2$$

$$w^n = x^2 y^{(n+2)} + n 2x y^{(n+1)} + n(n-1) y^n$$

$$\text{let } p = xy'$$

$$u = x$$

$$u' = 1$$

$$u'' = 0$$

$$u = y'$$

$$u' = y''$$

$$u^n = y^{n+1}$$

$$p^n = y^{n+1} \cdot x + n \cdot y^n \cdot 1$$

$$p^n = x y^{n+1} + n y^n$$

$$S = y$$

$$S^n = y^n$$

$$y^{n+2} \cdot x^2 + n \cdot 2xy^{n+1} + n(n-1)y^n + y^{n+1} \cdot x + n y^n + y^n = 0$$

$$y^{n+2} x^2 + (n \cdot 2x y^{n+1} + x y^{n+1}) + [n(n-1)y^n + n y^n + y^n] = 0$$

$$x^2 y^{n+2} + (2n+1)xy^{n+1} + [n(n-1) + 1 + n]y^n = 0$$

$$x^2 y^{n+2} + (2n+1)xy^{n+1} + (n^2+1)y^n = 0$$